EXAM 1 REVIEW SHEET, Chapters 1 & 2


Math 90, Elementary Algebra
 
For problems 1-5, perform the indicated operations and simplify.  YOU MUST SHOW ALL STEPS.

1. 
20 – 2(2 – 7)2

  



2.  62 ( 2(3) – 2




3.  0.2(3 – 1.4) + (–1.5(




4. 
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6. 
Evaluate
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, for x = – 10, y = 4. 











Simplify your answer.

7.
Write the prime factorization of 84. 
8.
Combine like terms.


(Hint: Draw a factor tree)

5x – 4y + 3 – x – 10y – 10
9.
Determine whether each statement is True or False. 
10.
Translate into an algebraic expression.




The difference of five and half of a number.

a. 
7 is a rational number.
________
 




b. 
2% of 15 is 3.
________ 


c. 
–1 is a solution to 6x – 3 = –9.
________


d. 
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________


e. 
2 – 3 < 4 – 5
________



11.
Match the phrase in the left column with the algebraic expression (A – F) from the right column.  


Choices A through F may be used once, more than once, or not at all.


_____ Twice a number
A.
2 + x 

_____ Two decreased by a number
B.
2


_____ The reciprocal of one half
C.
2x

_____ The absolute value of two
D.
2 – x

_____ The sum of two and a number
E.
–2

_____ The opposite of negative two
F.
x – 2
12.
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 , solve for S.
13.
Solve.
6 + 2x = 40




14.  Solve.
7x + 5 = 3(3x – 2)




Use ALGEBRA to solve the word problems below.  You must show all work to earn full credit.
15.
Each American consumes, on average, 3.5 pounds of nuts each year.  Of this amount, 25% is almonds.  How many pounds of almonds does the average American consume each year?

SHOW ALL WORK.

16.
A 450-foot fence is divided into three sections.  The second section is twice as long as the first.  The third section is three times as long as the second.  Find the lengths of each section. 


[Hint: Let x = the length of 1st piece of rope]   SHOW ALL WORK.
17.
Solve the inequality.  Graph the solutions on the number line.


10 – 2x  
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